1. Determine the rotational inertia of a wagon
wheel made of: a 5.0kg cast iron band, wrapped
around a 3.0kg wooden rim with a 1.0m outer
diameter and 0.95m inner diameter, connected
to 12 wooden spokes that are each 0.39m long
and 0.20kg stick out radially from a 2.0kg brass
cylinder that is 0.17m in diameter.

2. What percentage does the rotational inertia
of the wheel increase if a 0.50kg "road apple"
becomes stuck to the rim? p 274

T Loyeng ()
'."-."—__ L a's ( b}
+* I'Z(Isf'hl'(e) (o)
T L hub (_{'_)

IhMP: mce = (‘5)(0_53': .25
Lrim= Ji"‘(r:fr’}?r “%.@(0-4?511—6.51>

T 013

L spuns 2 ] 2]ttt
+0-1.(ﬂ.13ﬂ
- 0.2\¥6
L hoye = A f\'\{" = "2_(2—)(_0 03’5)
= 0.007225

@ﬁhlz Z_18% l«ﬁ

L. add OSkscmL-r"M
% incrense n L =7

T=mct (pm{'iic.lﬂ_)
=@-S)os) = 0.125

o125 _ 5
248y 574




= (5)(0.5) & ’2(5 (0475+05>
£ 2] oY (2] 10k

— (25 + o.734 t0.43U6 + O.007225

¥

o d.d A (Dadl OLP?K&
2
T = me? = (0.5)(0.5) = 042> Kgm?

i

RA

A

D/O aclea sy —. X/ 00

=

——

JEES
2.4/




